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General Instructions :

(i) All questions are compulsory.

(ii)  This question paper consists of 30 questions divided into four sections — A, B, C
and D.

(iii) Section A contains 6 questions of 1 mark each. Section B contains 6 questions of
2 marks each. Section C contains 10 questions of 3 marks each. Section D
contains 8 questions of 4 marks each.

(iv)  There is no_overall choice. However, an internal choice has been provided in
two questions of 1 mark, two questions of 2 marks, Jour questions of 3 marks
each and three questions of 4 marks each. You have to attempt only one of the
alternative in all such questions. -

(v)  Use of calculator is not permitted,

@usg - 3
SECTION - A

I GE&AT 1 ¥ 6 T Teilsh YT 1 3T 1 3 |

Question numbers 1 to 6 carry 1 mark each.

L W&Uﬁaw b, a=x3y? qe b=xy? %wﬁ%@mm%, Glﬁx,y
YIS AT &, o .9, (LQ@%,!}) HILH 14 Hifry |

Two positive integers a b can. be.wiitten as a = x3y2 and b=x3. x,
£ Y y

are prime numbers. LCM (a, b).

2t a‘rﬁﬁﬁﬁmﬁ&%@@m%?

How many two digits fiumbers are divisible by3?

3. T 1 H, DE|[[BC/ AD = | @i qerm BD = 2 3t @ |
(A'ABC) 71 (A ADE) % &raeil & 71 3 & 7 B 5

Ehl@
O]
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In Fig. 1, DE||BC, AD =1 cmand BD =2 cm. A
What is the ratio of the ar (A ABC) to the
ar (A ADE) ?

Fig. 1

4. U g formH F3 (2, -3) 8, F UH AW AB R | afa fig B & & (1, 4) ¥ @
forg A % facamen e Ao |

Find the coordinates of a point A, where AB is diameter of a circle whose
centre is (2, —3) and B is the point (1, 4).

5. ko o A o forw efieRtor x2 + dx+k = 0 % gt aratass g 7
HAUar
k 1 98 | J1q =hifoe, Forees fore wfieor 3x2 —10x+ & =0 %ng«rq%—@ﬁa
i & |
For what values of %, the roots of the equation x* + 4x +& = 0. are real?
Or

Find the value of k for which the roots of the equation-3x> —10x+k =0 are :
reciprocal of each other. i

6. I tan 2A = cot (A —24°) ®, %&%?WWW' |
'
"G% st
(sin? 33°+sin> 5’;"’) W'ﬁ:ﬁﬁ"{l

Find A if tan 2A = %t (A —24°)
Or

Find the value of (sinZ 38%+sin? 57°)

|

—HEyE
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@uE - &
SECTION - B
g G 7 9 12 T e YA 2 el 12 |

Question numbers 7 to 12 carry 2 marks each.

7. mﬁm%aﬁm%ﬂwmﬁﬁmﬁaﬁ?ﬁ%‘l

AUt

o G ATl 3 U ¢ TR ] ATEA n? &, 7@ Aoft &1 10af 78 1 AT |

Find, how many two digit natural numbers are divisible by 7.
Or

I£ the sum of first n terms of an AP is n*, then find its 10th term.

8. @@aﬁ@m%ﬁﬁﬁ%ﬁﬁaﬁqmmw%aﬂtmmww%@
%mm%laﬁ?hﬁqﬁmwmﬁﬁﬁeﬁammﬁ@awﬁmﬁm
a it |

A game consists of tossing a coin 3 times and noting the éuteorfie each time. If
getting the same result in all the tosses is a succésg, find“the probability of
losing the game.

9. figalt (1, - 3) @ (4, 5) foram anaﬁm@uz x-31e1 grn fre egum
ﬁmmam%,aamﬁ@aﬁmaaﬁamﬁmw1

Find the ratio in whi @E segment J(m'simg the points (1, — 3) and (4, 5) is
divided by x-axis ? find the coordinates of this point on x-axis.

10. @mﬁﬁ@@mwm@mm%ﬁaﬁﬁ(mzms%m
&) HE ¥ AW i it I |

" A die is throWn_onice. Find the probability of getting a number which (i) is a
prime number (ii) lies between 2 and 6.

11. ¢ 9F 31 i, afd afien e co+3y+(3-0)=0; 12x+cy—c=0 %
ayafefira &9 & 3% & € |
Find ¢ if the system of equations ex+3y+(3-c)=0; 12x+cy—-c=0 has
infinitely many solutions ?

Eh ll%
&
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12. gffTs weifted % WM @ 1260 € 7344 1 WEGH @aads (HCF) 314
It |
FHUYAT
avtten f geis forem GAQUITE (4q +1) AT (4g+3) ¥ ®Y &1 2l 8, 5l ¢
I3 qUTT 2 |
Find the _HCF of 1260 and 7344 using Euclid’s algorithm.
Or
Show that every positive odd integer is of the form (4g +1) or (4g +3), where
g is some integer.
Qus - |
SECTION -C
ST G 13 A 22 T T T 3 3HI €|
Question numbers 13 to 22 carry 3 marks each.

13. 3x3 +10x% -9x—4 %H‘ﬂw,ﬁaﬁﬁq’qﬁmﬁwl%] )

Find all zeros of the polynomial 33 +10x% —9x—4 if one of jts zero is 1.

(4. s & e 3 v gu A 8 At ot o St PQ R | P &fftQ ¥ T T T
@%@ngﬁ?&am%l(a@%zmﬁpﬁéﬁaﬁa?ﬁma

W\ Q
PQ is a chord of length'8 c'rrrluof a circle of radius 5 cm. The tangents at P and
Q intersect at a point=1"(sce Fig. 2). Find the length TP.

: P
E 5cm
T 2 ¢}
Q
Fig. 2
E¢E
i
30/1/3 5 [P.T.O

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

15, frg SRR 2+5*/5 o raii de &, R 2 B U3 o srafoi sy |

2+3

5

Prove that is an irrational number, given that V3 is an irrational

number.

16. @ HIRT R (sin 0+ cosec 0)2 + (cos 0+ sec0)2 = 7+tan> 0 +cot 0 |
HAYAT

forg #ifsie fas (I+cotA—cosecA)(1+tan A+secA)=2

Prove that (sin 0+ cosec 0)” + (cos 0+ sec0)? = 7 + tan2 8+ cot? 0.

Or
Prove that (1+cot A —cosecA)(1+tan A +secA) =2

17. U a1 o1 31g 79 3 sl ot o7 o AN F A T F v B s 9 ¥ averd
Iuehl Y = F AP F AN F FH F TEE wnft | far A adul g @
Hifer |

g

IraT _
uF fim % & STl 8, 5o 36 w@zmm%,aﬁg%% Bl ST 8, e &

T F 1 g2 S | T8 s g Hifsm |

A father’s age is three times tl§um of the ages of his two children. After 5
years his age will be two t‘in,& e sum_of théir ages. Find the present age of

the father. §2§

\Q(b' \ Or

A fraction bem@Q 3 when” 2 1s subtracted from the numerator and it
1

becomes 3 when 1 is subtracted from the denominator. Find the fraction.

18.  y-31e1 %1 a1 foig v for S fogadt (5, —2) e (-3, 2) & wwqm |
Tt
fagati A(2, 1) @@ B(S, -8) 1 fiei aren Tamave figedt p aar Q w anfiviom
BT R Safeh P g A % e 8 1 IR P, 25— y+4k =0 270 yew Y@1 W ot R
2, @ k %1 7 F1d i |

Ehl@
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Find the point on y-axis which is equidistant from the points (5, —2) and
(3, 2).

Or
The line segment joining the points A(2, 1) and B(5, —8) is trisected at the
points P and Q such that P is nearer to A. If P also lies on the line given by
2x—y+k=0, find the value of k.

19. et STETa sied 1 Sges Jd i |
it 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

AT 8 10 10 16 12 6 7

Find the mode of the following frequency distribution.
Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
Frequency 8 10 10 16 12 6 7

20. 6 T =S o 1.5 H el Tk TR H 9l 10%&/@%%@%‘@% 30
mﬁ,wwﬁmﬁ%ﬁémm,mﬁﬁﬁﬁ%ﬁﬁmsﬁﬂﬁ
art Y ST Bl # |

Water in a canal, 6 m wide and 1.5 m deep, is flowing with a speed of 10 |
km/hour, How much area will it irrigate in 30 mirutes; if 8 cm standing water ;

is needed ? Q)
Rt
21. 3%fa 37, £ ACB=90° @‘CD LABR, fag #ifse f5 CD? =BDxAD.

N |

$Q C

$
A = B
) H@ﬁ 3
HUdr

aft P @um Q WY A ABC # el CA 7o CB W e foig & @om £ C
T 2, ot firg iR B (AQ? +BP?) = (AB? +PQ?)

= EyE
OFtE
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22.

In Fig. 3, £ ACB =90° and CD L AB, prove that CD?> = BDxAD.
C

-

DFig. 3
Or
If P and Q are the points on side CA and CB respectively of A ABC,
right angled at C. Prove that (AQ? + BP?) = (AB? + PQ?)

THE 4 H, SR & F1 &6 F1d hifew, afe ABCD us 3tad @ gt
SITE 8 Tt o 6 Tt el & a9 O 7% 1 R | (= 3.14 o)

Find the area of the shade%@gion in Fig, 471f ABCD is a rectangle with sides
8 cm and 6 cm and O i& centre©f circle. (Take n = 3.14)

30/1/3 8
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T uE - g
SECTION - D

Y9 TEAT 23 § 30 T T T 4 3l I 2 |
Question numbers 23 to 30 carry 4 marks each.

23. G sec = x+zl},x¢0, al (sec 6 + tan 6) 3a FfST |

Ifsec O = x+%,x¢0, find (sec 6 + tan ).

24. Thg FfS o 3t waET Bfsil & &wel o1 STgUTd 3790 T TS o ST %
a1l o ST AT R |

Prove that the ratio of the areas of two similar triangles is equal to the square
of the ratio of their corresponding sides.

25. faferfiaa e e Sadt & 50 wfirri 6 2 s aofar 21 =\

i a1 (TH) 200-220 | 220-240 | 240-260 | 260-280 |*280-300
fteRt it g 12 14 8 6 10
I e 1 TF A FH GHRL & Helfl TRATAT 62 ST a9 IHH G
Eife | ‘

e
AR 4 e et e S g s e o 46 e 2
Qe yere| o o wreg @%@T it |
dmad %) jQ00-1504,150-200 | 200-250 | 250300 [ 300-350
ofam S wem: O 4 5 12 2 2
The following distribution gives the daily income of 50 workers of a factory.
Daily income (ifi )=}, 200-220 | 220-240 | 240-260 | 260-280 | 280-300
Number of workers 12 14 8 6 10

Convert the distribution above to a ‘less than type’ cumulative frequency
distribution and draw its ogive.

Or
-E.:-E
i
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26.

28.

The table below shows the daily expenditure on food of 25 households in a
locality. Find the mean daily expenditure on food.

Daily expenditure 100-150 | 150-200 | 200-250 | 250-300 300-350
(in%):
Number of 4 5 12 2 2
households :

T s ABC i = fifsme formd CA = 6 Ui, AB = 5 4 41 /BAC = 45°
ﬁlm@mﬁwﬁmﬁﬁq%EﬁWaABcﬁWwaﬁmg
AT |

Construct a A ABC in which CA = 6 cm, AB =5 cm and Z BAC =45° Then

: . 3 . :
construct a triangle whose sides are 3 of the corresponding sides of

A ABC.

F & 55 % SR A IR Gel e a1 12308. 8.5 @t 3|
T Sll e et gt Rl ) Bisamt smr: 20 @ 7ar 1o 48 | e i
TS qU1 56 S 3§ et H@ﬁﬂmwmmﬁﬁﬁ{"(x=3.l4?ﬁm)
A bucket open at the top is in the form of a frustu;'ﬁ_gfa. cone with a capacity

of 12308.8 cm?. The radii of the top and bottomoficircular ends of the bucket
are 20 cm and 12 cm respectively. Find the height'of the bucket and also the
area of the metal sheet used in @kiug it. (Uséz = 3.14)

Ioorﬁﬁwmmﬁ}‘%gwmﬁéwgwwﬁszﬁmﬁmm
i 3 37 7 8 2 30m e gan e & 1 3 e e 1
=Tt 1 shifer | @@1.?32 Sifse |
N “ o
@sorﬁiﬁ@mﬁ*aﬁaﬁrmﬁ—mwiﬁﬁaﬁadﬁaﬁgﬁla
AT Wl 3 ot T %  fiig & @il ¥ R % g o e 60° 3R 30°
%;l@ﬁﬁﬁéﬁ@ﬁﬁﬁgﬁ@mﬁml

A man in a boat rowing away from a light house 100 m high takes 2 minutes
to change the angle of elevation of the top of the light house from 60° to 30°.

Find the speed of the boat in metres per minute. [Use Y3=1 .732]

30/1/3 10
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Or
Two poles of equal heights are standing opposite each other on either side of
the road, which is 80 m wide. From a point between them on the road, the
angles of elevation of the top of the poles are 60° and 30° respectively. Find
the height of the poles and the distances of the point from the poles.

29. 31 Yl % Tt T WY TH o 1% a1 7 9T A & | T A Al A o

uﬁﬁ,mmm@rwﬁzdﬁmm@m%\mwmmﬁﬁﬁ
T o1 GHA T hIT |

areran
wF A 10 T H G o gidsket 30 Foreft den aw % SRS 44 Tl Tl ®1013
3 7 7w 40 Pt aRT % SRt T 55 R a0 STEe S @ | R R =
o1 =19 i fRR st § =1 J1d AT |

Two water taps together can fill a tank in 1% hours. The tap withslonger Sk

diameter takes 2 hours less than the tap with smaller one tol fill, the tank I
separately. Find the time in which each tap can fill the tank separately. '.
Or
A boat goes 30 km upstream and 44 km downstreamin 10 hours. In 13 hours,
it can go 40 km upstream and 55 km downstreatn, Determine the speed of the

stream and that of the boat in still water.

30. uﬁ@ma@ﬁ%uwa@lzﬁnwﬁﬁmm14qa’i$r?ﬂ11280%| |
mﬁaﬁ%mmﬁwﬁ@%ﬂﬁﬁm

O
If the sum of first fi Qerms of an AP is 40 and that of first 14 terms is 280.
Find the sum of #§yirst » terms.

S EyE
o} 7
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